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https://chenhsuantu.github.io/1092SA

Lab 7 E1E F Function

#1 Read file & convert to ppp. * as.owin() -» BE#sFEH
#2 Generating random points. rpoint()

#3 Calculate nearest distance. nncross()

#4 Calculate F(d): ecdf()

#5 Monte Carlo Significance Test: for-loop

#6 plotting the CDF curve: plot()

Final: comparing with the result of envelope(School.ppp, fun=Fest)

nnd=nncross (Random.ppp, School.ppp)
F = ecdf(nnd$dist)

Monte Carlo Significance Test

Repeat RandomSchool.ppp

nnd=nncross (Random.ppp, RandomSchool.ppp)
F = ecdf(nnd$dist)



Lab 7 BEEXK
1. XNBEEFFEMETE - w0 RO FEHEERESFGERENA -
2. UommiEBEERZER . Hy @ B TRRE
3. FHEF: RHR-BEERE L oNIEE N ecdfEIR] (JREHR) ° . H, : BEOTRIEREH
4. EHEF  cI&HRR-9oXIEE - kA L EENELER - « a=0.1
F function Cl

distance



05

G(d) S
HE S B L B RS Y S 1 2

04

03

nnd= nndist(SH.ppp)
G = ecdf(nnd)
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Confidence Envelope
envelope()

F(d) CI=envelope(SH.ppp,
G(d) CI=envelope(SH.ppp,
K(d) CI=envelope(SH.ppp,

L(d) CI=envelope(SH.ppp,
plot(CI)
plot(CI,.-r~r)
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7 : Bivariate F

Univariate F
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